

Preinflated NEW 9"-63119-19 Includes cup and stick. 1.66

Order in multiples of 10.

Qty Ordered \_



**NEW 9749243** #4 Pot Covers Melamine. Food safe. 4½"H × 5"Opening

\$15.48 set/12. \$1.29 ea Qty Ordered \_\_\_\_\_



**NEW 3119-00** Mugs Ceramic. 13 oz \$21.72 set/6. \$3.62 ea

Qty Ordered \_\_\_\_\_



**NEW 9749337** Wine Glasses Handblown glass. 16 oz 4¼"H × 2¾"Opening

\$20.68 set/4. \$5.17 ea Qty Ordered \_



NEW 3119-270 **Travel Tumblers** Insulated acrylic with

lid and straw. 20 oz 71/2"H × 31/4"Opening

\$37.20 set/6. \$6.20 ea Qty Ordered



**NEW 3119-40** Tote Bags Polypropylene.  $10\frac{1}{4}$ "H ×  $8\frac{3}{4}$ "W ×  $4\frac{3}{4}$ "Gusset

\$15.00 set/12. \$1.25 ea Qty Ordered

burton the TOTAL gift experience

Customer #: Store #: Phone #: Contact Name:

NOTHING bundt CAKES

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM \$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

Pricing reflects current market conditions and





**NEW 3119-144** Picks

Wood. Clip. 12"Tall 3"H × 2¾"W

\$24.48 pk/24 \$1.02 ea **Qty Ordered** 



NEW 3119-312

Wine Glasses Handblown glass. 12 oz 9"H × 2½"Opening

\$26.92 set/4. \$6.73 ea Qty Ordered

NEW 3119-303

#4 Pot Covers Melamine. Food safe. 4½"H × 5"Opening

\$15.48 set/12. \$1.29 ea Qty Ordered \_





NEW 3119-313

Wine Glasses Handblown glass. 16 oz 41/4"H × 23/4" Opening

\$20.68 set/4. \$5.17 ea Qty Ordered



NEW 9749286

Wine Glasses Handblown glass. 16 oz 4¼"H × 2¾" Opening

\$20.68 set/4. \$5.17 ea Qty Ordered

NOTHING bundt CAKES



Customer	#:
Store #: _	
Phone #:	

Contact Name:

Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM \$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



Wood. Clip. 12" Tall **\$24.48 pk/24. \$1.02 ea** same design





**3030-144** Picks 3"H × 3"W **Qty Ordered** 



**NEW 3118-144** Picks Wood. Clip. 12" Tall 3"H × 3"W

Qty Ordered \_\_\_\_\_







NEW 9749322 Pick Asst. 234"H × 3"W

Qty Ordered \_\_\_



**NEW 9749255** Pick Asst.

3¼"H × 2½"W **Qty Ordered** \_







Customer #:	
Store #:	
Phone #:	( NOTHING bundt CAKES )
Contact Name:	The state of the s

Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook – Ext. 2210 • Courtney Barker – Ext. 2239 Diana Fairbairn – Ext. 2397 • Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



3020-155 Mugs Ceramic. 14 oz \$22.32 set/6. \$3.72 ea Qty Ordered



**3020-313** Wine Glasses Handblown frosted glass. 16 oz • 41/4"H × 23/4" Opening \$20.68 set/4. \$5.17 ea Qty Ordered



3020-303 #4 Pot Covers Melamine. Food safe. 4½"H × 5"Opening \$15.48 set/12. \$1.29 ea Qty Ordered \_\_\_\_\_



Wood. Clip. 12" Tall  $3\frac{1}{2}$ "H ×  $3\frac{1}{2}$ "W \$24.48 set/24. \$1.02 ea Qty Ordered \_\_\_\_\_



Use picks with

3020-144 Pick Asst. Wood. Clip. 12" Tall 21/2"H × 3"W \$24.48 set/24. \$1.02 ea Qty Ordered



Customer #: Store #: Phone #: Contact Name:

Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM \$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

Pricing reflects current market conditions and



1985-303 #4 Pot Covers Melamine. Food safe. 4½"H × 5"Opening

\$15.48 set/12. \$1.29 ea Qty Ordered





1090-144 Pick Asst.

Hand-painted wood. 12" Tall • 1½"H × 3"W

12" Tall • 3"H × 2"W

\$18.30 set/15. \$1.22 ea Qty Ordered



0611-00 Mugs Ceramic. 13 oz \$21.72 set/6. \$3.62 ea Qty Ordered \_\_\_\_\_



1985-00 Mugs Ceramic. 13 oz \$21.72 set/6. \$3.62 ea Qty Ordered \_\_\_



9726884 Mugs Ceramic. 13 oz \$21.72 set/6. \$3.62 ea Qty Ordered \_\_\_\_\_



**FRONT** 



\$20.68 set/4, \$5.17 ea Qty Ordered \_\_\_\_\_

**9743734** Wine Glasses Handblown glass. 16 oz 41/4"H × 23/4"Opening

BACK

burton <sup>®</sup> +BURTON
the TOTAL gift experience®

Customer #:	
Store #:	
Phone #:	( NOTHING bundt CAKES )
Contact Name:	The state of the s

Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM \$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

Pricing reflects current market conditions and





**9744443** Planters Hand-painted raised porcelain. 6"H×4¼"W×7½"D Opening: 3" Diameter \$37.92 set/4. \$9.48 ea Qty Ordered\_



**9721984** Planters Hand-painted raised ceramic. 3¾"H × 4"Opening \$29.48 set/4. \$7.37 ea Qty Ordered \_\_\_\_\_



9721985 Planters Hand-painted raised ceramic. 3¾"H × 4"Opening \$29.48 set/4. \$7.37 ea Qty Ordered



Customer #:	
Store #:	
Phone #:	( NOTHING bundt CAKES )
Contact Name:	The state of the s

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM \$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

### Bahy



#### **NEW 3124-144** Pick Asst.

Wood. Clip. 12" Tall • 2¼"H × 4"W • 3"H × 3½"W 3¼"H × 3¾"W • 3¾"H × 3¼"W

\$24.48 pk/24. \$1.02 ea. Qty Ordered \_

Use picks with
BUNDTLET
TOWERS



# **NEW 3124-303**#4 Pot Covers Melamine. Food safe. 4½"H × 5"Opening \$15.48 set/12. \$1.29 ea



Wed 9749257 Picks Wood. Clip. 12" Tall 2¾"H × 3"W \$24.48 pk/24. \$1.02 ea Qty Ordered \_\_\_\_\_



Web 9749258 Picks Wood. Clip. 12" Tall 2¾"H × 3"W \$24.48 pk/24. \$1.02 ea Oty Ordered \_\_\_\_\_

#### NEW 9749244

Qty Ordered \_\_\_

**#4 Pot Covers**Melamine. Food safe.
4½"H × 5"Opening

\$15.48 set/12 \$1.29 ea Qty Ordered





#### NEW 9749246

#4 Pot Covers

Melamine. Food safe. 4½"H × 5"Opening \$15.48 set/12

\$1.29 ea Qty Ordered

burton +BURTON
theTOTALgift experience®

Customer #: Store #:	
Phone #:	( NOTHING bundt CAKES )
Contact Name:	Married Marrie

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook – Ext. 2210 • Courtney Barker – Ext. 2239 Diana Fairbairn – Ext. 2397 • Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

### Everyday





3016-76 Photo Frame Asst.

Hand-painted raised wood, rope, and metal. Clip. Holds a  $4\times6$  photo.  $7\frac{1}{2}$ "H  $\times$   $10\frac{1}{2}$ "W \$37.20 set/6. \$6.20 ea. Qty Ordered



3016-249 Shelf Sitter Asst. Hand-painted raised wood and rope. 2¾"H × 14¾"W • 3"H × 10¾"W

\$31.02 set/6. \$5.17 ea Qty Ordered



**9743971** Trays Hand-painted wood. 2"H × 19½"W × 11¾"D

\$39.32 set/2. \$19.66 ea Qty Ordered



Customer #: Store #: NOTHING bundt CAKES Phone #: Contact Name:

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM \$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

Pricing reflects current market conditions and

### Everyday





3016-132

Wall Hanging Asst. Hand-painted raised

wood and rope. 8"H × 12"W

\$28.92 set/4. \$7.23 ea Qty Ordered \_\_\_



9724928 Mugs

Hand-painted recessed raised porcelain. 18 oz

\$22.72 set/4. \$5.68 ea Qty Ordered

panne shanpe\_



Customer #:	
Store #:	
Phone #:	( NOTHING bundl CAKES* )
Contact Name:	Sand Sand Sand Sand Sand

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239

Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



**6546-75** Mugs Hand-painted raised ceramic. 14 oz \$30.00 set/4. \$7.50 ea Qty Ordered \_\_\_



**9731706** Mugs Ceramic. 13 oz \$21.72 set/6, \$3.62 ea Qty Ordered \_\_\_\_\_



9731707 Mugs Ceramic. 13 oz \$21.72 set/6, \$3.62 ea Qty Ordered \_\_\_



6643-75 Muas Hand-painted raised ceramic. 10 oz \$30.00 set/4. \$7.50 ea Qty Ordered \_\_\_\_\_



9730074 Mugs Hand-painted raised porcelain. 12 oz \$24.78 set/6. \$4.13 ea Qty Ordered \_



NEW 9749334 Mugs Ceramic.13 oz \$21.72 set/6. \$3.62 ea Qty Ordered \_\_\_\_\_

#### Mug + Caddy Gift Sets

Bone china and heavy paperboard. 11 oz \$24.78 6 sets. \$4.13 ea same design



9731713 7½"H × 5¾"W × 3¼"D Qty Ordered \_

9738366 71/4"H × 63/4"W × 31/4"D Qty Ordered \_





9719848 Mugs Hand-painted raised ceramic. 13 oz \$33.12 set/4. \$8.28 ea Qty Ordered \_



Customer #:	
Store #:	
Phone #:	NOTHING bundt
Contact Name:	Secretary of

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM \$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

### Everyday

#### Stemless Wine Glasses

Handblown glass. 16 oz  $4\frac{4}{7}$  H ×  $2\frac{3}{4}$  Opening **\$20.68 set/4. \$5.17 ea** same design



**9743737** Oty Ordered



#### Wine Glasses

Handblown glass.

\$26.92 set/4. \$6.73 ea

same design



**9743738**12 oz • 9"H × 2½"Opening **Qty Ordered** 



**9743740**12 oz • 9"H × 2½"Opening **Qty Ordered** 

9743698 Cake Pedestal Asst.

Pressed iridescent raised glass. 3"H × 7"Diameter 3½"H × 9"Diameter • 3¾"H × 11"Diameter

\$37.26 set/3. Qty Ordered \_\_\_\_\_

burton +BURTON
theTOTALgift experience*

Customer #:	
Store #:	
Phone #:	NOTHING bundt CAKES"
Contact Name:	handle and a self and the self

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook – Ext. 2210 • Courtney Barker – Ext. 2239 Diana Fairbairn – Ext. 2397 • Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

### Sports

Mugs Hand-painted ceramic. \$31.02 set/6. \$5.17 ea same design



9722088 Mugs. Recessed. 15 oz Qty Ordered \_



**9722089 Mugs.** Recessed. 13 oz Qty Ordered \_



**9722091** Mugs. 14 oz Qty Ordered \_

**9722092** Mugs. 13 oz Qty Ordered \_\_\_\_\_







#### **9709613** Chip + Dip Sets

Hand-painted raised ceramic.

Tray: 2"H × 12¾"W × 9½"D

Dip: 2"H × 5"W × 3¾"D • Opening: 3¼"W × 2¼"D

\$51.76 2 sets/2. \$25.88 set Qty Ordered \_\_\_



Customer #:	
Store #:	
Phone #:	( NOTHING bundt CAKES )
Contact Name:	the street of the street of

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn – Ext. 2397 • Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.



Flat: Requires air inflator + sealer Preinflated: Includes cup + stick

PREINFLATED **BALLOONS** 

0443 General Asst. \$26.64 pk/24. \$1.11 ea Qty Ordered



PREINFLATED **BALLOONS** 

0441 Birthday Asst. \$26.64 pk/24. \$1.11 ea Qty Ordered



burton the TOTAL gift experience

Assortments are subject to substitutions.

Customer #: Store #:	
Phone #:	( NOTHING bundt CAKES* )
Contact Name:	Sand Sand Sand Sand Sand Sand Sand Sand

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM \$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

Flat: Requires air inflator + sealer Preinflated: Includes cup + stick

\*\*Note: Shipments of 9" balloons may be delayed during warmer months (i.e., Summer) due to excessive heat.



**BALLOONS** 

11016 General Asst. \$53.12 pk/32. \$1.66 ea













Qty Ordered \_

















11015 Birthday Asst. \$53.12 pk/32. \$1.66 ea Qty Ordered



**BALLOONS** 

11020 Spanish Asst. \$53.12 pk/32. \$1.66 ea Qty Ordered











Assortments are subject to substitutions.

# burton the TOTAL gift experience

Customer #: Store #:

Phone #:

Contact Name:

NOTHING bundt CAKES

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

Flat: Requires air inflator + sealer Preinflated: Includes cup + stick

\*\*Note: Shipments of 9" balloons may be delayed during warmer months (i.e., Summer) due to excessive heat.











PREINFLATED **BALLOONS** 

0438 Valentine's Day + Love Asst. \$26.64 pk/24. \$1.11 ea Qty Ordered \_







PREINFLATED **BALLOONS** 

0407 Love Asst. \$26.64 pk/32. \$1.11 ea Qty Ordered \_\_\_













PREINFLATED **BALLOONS** 

11026 Valentine's Day + Love Asst. \$53.12 pk/32. \$1.66 ea Qty Ordered \_\_\_\_\_







Assortments are subject to substitutions.

burton the TOTAL gift experience

Customer #:	
Store #:	
Phone #:	NOTHING bundt CAKES"
Contact Name:	the street of the street of

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook - Ext. 2210 • Courtney Barker - Ext. 2239 Diana Fairbairn - Ext. 2397 • Nicole Waterfill - Ext. 2214 ECOM \$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

Flat: Requires air inflator + sealer Preinflated: Includes cup + stick

\*\*Note: Shipments of 9" balloons may be delayed during warmer months (i.e., Summer) due to excessive heat.













32 9" PREINFLATED BALLOONS

11072 Easter Asst. \$53.12 pk/32. \$1.66 ea Qty Ordered \_\_\_\_\_











Assortments are subject to substitutions.



Customer #: \_\_\_\_\_\_
Store #: \_\_\_\_\_
Phone #: \_\_\_\_\_
Contact Name: \_\_\_\_\_

#### Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook – Ext. 2210 • Courtney Barker – Ext. 2239 Diana Fairbairn – Ext. 2397 • Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.

Flat: Requires air inflator + sealer Preinflated: Includes cup + stick

\*\*Note: Shipments of 9" balloons may be delayed during warmer months (i.e., Summer) due to excessive heat.

HAPPY MOTHER'S











24 4" PREINFLATED BALLOONS

**0420** Mother's Day Asst. **\$26.64** pk/24. **\$1.11** ea **Qty Ordered** \_\_\_\_\_







32 9" PREINFLATED BALLOONS

11074 Mother's Day Asst. \$53.12 pk/32. \$1.66 ea Qty Ordered \_\_\_\_\_

















Assortments are subject to substitutions.



Customer #: \_\_\_\_\_\_Store #:

Phone #:

Contact Name:

NOTHING bundt CAKES

Call 800-241-2094 + Fax 800-880-9759

www.burtonandburton.com

Julie Rook – Ext. 2210 • Courtney Barker – Ext. 2239 Diana Fairbairn – Ext. 2397 • Nicole Waterfill – Ext. 2214 ECOM

\$75.00 MINIMUM ORDER • PRICES INCLUDE SHIPPING.